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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt
of this question paper.

2. Attempt all questions.

3. All questions carry equal marks.

4. Answers must be based upon the provisions of the
Income Tax Act, 1961 and Assessment Year 2023-24
must be applied.

5. Answers may be written either in English or Hindi;
but the same medium should be used throughout the

paper.
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Explain the following basic concepts :
(i) Income
(ii) Assessee

(iii)) Person (4+3+4)
. Or

From the following particulars, compute the taxable
income of Mr X for the assessment year 2023-24
when his residential status is (i) resident and ordinarily
resident.
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4.

Mr Z 15-08-2017 ¥ % ¥ frowr a8 2022-23 & R
a9 R FRw w3 fwmw SR 2

(i) ¥ & 3™ 12,00,000 wRES
(i) & #ufs ¥ sm 1,20,000 TR
(iii) == == ¥ 1,00,000 T N @

Fei A s [ ¥ 50,000 TR sE U SR A9
TAAEA il & W 30,000 TR = Hifmw o R ik

120,000 T} & Ffren @ WfEm @ S s B

et af 2023 -24 & e Su =X A 3@ ik ¢ 2T
& T iR ()

AT
P w0 v W e R :
(i) = = PuiRe s K 3@ Tem

(i) 3w = feEn (6+5)
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Mrs. S (31; 68 a¥, et =ifew) fise af 2022-23 &
o R g e 21 P 9§ 2023-24 3 e T
T AT M IR T ST L UET SHieTgl

(i) s fmr & ==} W ¥ 1,50,000 T F IR W
F B

(i) = A T (ET) ¥ 3,00,000 TA F TH B Guf
e B (Yufa 1 w0 S8 W 15 9 #))

(iii) =& wickal & Fad o & w0 X 14 W@ T W=
TR & WET G W W werl @ 30% 8

(iv) Tt wdlim %1 ¥ T 1,50,000 (WheT) &1 N>
W HE R

(v) Se= Faiem &t @R ¥ 50,000 ¥ W TEHE IUEW

(vi) w-R =t R W 3 ¥ 80,000 TR N fhwd
N AT W B 7 (EERE Jh @ W X gk
&)1 (m)
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(iii)

(iv)

(v)

(vi)

(vii)

(viii)

(ix)

3

Profits from a business in Bombay Rs. 2,75,000.

Interest from debentures in an Indian company

received in USA Rs. 10,000.

Interest on U.K. Government Bonds half of

which is received in India Rs. 40,000.

Dividend received from a domestic company

Rs. 20,000.

Dividend received from a British company

received in Landon Rs. 10,000.

Income from a property in England and received

there Rs. 50,000.

Gift of money received by X from Y of
Rs. 70,000.

Income from agriculture from England

Rs. 90,000.

Past foreign income brought to India Rs. 20,000.

P.T.O.
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(x) Profit earned from a business in England which
is controlled from India, half of the profit being
received in India Rs. 2,00,000.

(xi) Income from a profession in India, but received

in England Rs. 3,00,000. (11)

2. From the following particulars, compute the taxable
salary of Mr X for the assessment year 2023-23. He
has been employed in the textile indusiry since 1-05-
2001 in Mumbai. He retired from services on 1% March
2023. In addition, he submitted the following benefits

from the employer at the time of retirement:

(i) His monthly basic salary of Rs.40,000 and
Dearness Allowance of Rs.20000 per month
which is granted under terms of employment and

counted for retirement benefits.
(ii) Bonus Rs.32000 and Commission Rs.20,000.

(iii) House Rent Allowance Rs. 10,000 per month
(Rent paid for house in Mumbai Rs. 12,000 per

month).
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o TEAT W | A AS | T g
i 71 o= 2R $ arfe 1.4.1999 1.8.1999 1.4.1995
fwmtor st qor g9 S arfie | 31.12.2000 31.1.1995| 31.12.19%
Rs. Rs. Rs.
Te IR HeEr 4,50,000 | Self-occupied 2.50,000
AF T 5,00,000 N.A. 4,00,000
TR AT BT 7T 7,50,000 3,50,000 4,50,000
ATFer® FRT ETET BT T 60,000 90,000 50,000
T R T
Her i qoea g o Ty 24,000 30,000 60,000
TET 9T SIS ;
st = it 20,000 30,000 15,000
T i AT 12,000 15,000 10,000

fReficor = 2023-24 = fow ot X 9 IE Gufw ¥ s A

AT S|

(m)

3 ‘IRadl W Wi WS Gl TN S WY 8§ ENR AR
UF ¥ B Gl A I AUET A I AU W S9i0)

(m)
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(v) o St fiEr W 500 T R HE
(vi) wReew v 1,000 T W AE
(vii) faféeen s 500 T A AE
(viii) e e 2000 T HfA E

(ix) TR R 9 500 T AR WE

(x) STEUF ¥l 500 T WA E (S W E
w$ uir 3000 €A

(xi) 3= Iy ST, 1972 B A & @8 Ha F
T 25 @ T @ LA WA g

(mi)ﬁwﬁﬁﬁﬁ&mmsoﬁﬁ%aﬁ‘m
ST 1 TR 21 IR Jed & e 200 R
& i oA W W Towl SR S A TR
= fog 15 @@ T W & (m)

rdn

Mr X S ¥ 9 el & Wi 21 31-03 - 2023 W T
af & forg e FeTER 2

3070
(iv)

(v)

(vi)

(vii)

(viii)

(ix)
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(xii)

5

Entertainment Allowance Rs.1,000 per month.

Children’s Education Allowance Rs.500 per

month.

Transport Allowance Rs.1,000 per month.
Medical Allowance Rs.500 per month.

Servant Allowance Rs.2000 per month.

City Corﬁpensatory Allowance Rs.500 per month.

Research Allowance Rs.500 per month (amount

spent on research Rs.3000).

He received a Gratuity of Rs.25 lakhs covered

under the payment of the Gratuity Act., 1972.

He is entitled to 30 days earned leave by his
employer in a year. He availed the 200 days
earned leaves during the services and received

Rs. 15lakhs for unavailed earned leaves.

(1)

BE A
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Mr X is the owner of three houses in Bombay. The

particulars for the year ended 3 1-03-2023 are as under:

Particulars 1** House 2" House | 3™ House
Construction started date 1.4.1999 1.8.1999 1.4.1995
Construction completed on 31.12.2000 31.1.1995 | 31,12.199
Rs. Rs. Rs.
Actual rent received 4,50,000 Self-occupied 2,50,000
Standard Rent 5,00,000 N.A. 4,00,000
Municipal Value 7.50,000 3,50,000 4,50,000
Municipal Taxes paid by the 60,000 90,000 50,000
owner
Interest on loan taken for 24,000 30,000 60,000
renovation of house
Insurance premium paid 20,000 30,000 15,000
Cost of repairs 12,000 15,000 10,000

Compute Mr X ‘s income from house property for the

assessment year 2023-24. (11)

3. Explain the term ‘Block of Assets’. Also, explain how

to compute income from business and profession.

(11)
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(x) e ¥ ot e ¥ aiffe 1w, St i R P
é’lﬁr%,wﬁmz,oo,ooomﬁmm'ﬂm
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(xi) R ¥ RR AN D I, AT e 3,00,000 T
WS T5 i (n)

% ﬁmﬁﬁ&aﬁw%,ﬁaﬁwaﬁzoza-zséﬁqw.x%
mzﬁm%a:aﬁmﬁﬁrmaggaém—os-zom%m
I ¥ wwiE #1919 2023 i dash A I g
ELCh e, Il WA @ e fdier ¥ R
Y W e @

(i) s wfew %@ I 40,000 T R wEWE s
20,000 T ¥t W ? W IR N T = qEG By
W 8 SR JagR W e Ber s 2

(i) @@ 32000 T sk =R 20,000 TN

(iii) =T fwar s 10,000 T WRY W (d9s A W &
ﬁ?ﬂ?mf?mrwﬁmrm,ooomﬁuﬁrw)l

(iv) RS =1 1,000 T Wiy wE)

P.T.Q.
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ot faawn |, PRy af 2023-24 & Rl Mr X &)
T A HE H IO HIoe, T I A fRaf (i)
o 3t 9= w9 ¥ FaE

(i) @ ¥ fordl =@ | 2,75,000 €A FT WA

(i) fFd wdm Fo § Re=R ¥ 10,000 T W =N
T Uod IR ¥ W g3l

(i) I WHR & svs W =, e & smen 40,000 w02

WRE ¥ W g B
(iv) =R =T ¥ W 20,000 TR F AN |

(v) v fafldw w9 ¥ 10,000 T & AT FoA A A
T3 2

(vi) iz % fond 9 @ g2 39 st 9=t W §¢ 50,000
TR

(vii) Y & X = 9 70,000 &Y H IUERI
(viii) Eele ¥ FW ¥ 90,000 T AN IJW

(ix) wwa % @€ 7€ 20,000 T T P G @
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Mrs. S (age: 68 years, resident individual) furnishes
the particulars for the previous year 2022-23. Compute
her taxable income and tax liability for the assessment

year 2023-24.

(1) Receives a gift of Rs. 1,50,000 from her father’s

cousin,

(i1) Purchases a house property from her close friend
(Neha) for Rs. 3,00,000 (stamp duty value of
the property is 15 lakhs).

(iii) Receives Rs. 14 lakhs as net winning from

lotteries where tax deducted at source @30%.

(iv) Receives a dividend of Rs. 1,50,000 (Gross) from

an Indian company.
(v) Cash gift from her employer of Rs.50,000.

(vi) Receives a rental income of Rs. 80,000 from
letting out furniture (Not charged as business

income). (11)

P.T.O.
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4. Mr Z is employed with the w.e.f. 15-08-2017. His
details of income and investments for the previous

year 2022-23 are as under :

(i) Income from salary Rs. 12,00,000 p.a.

(ii) Income from house property Rs. 1,20,000.
(iii) Income from other sources Rs. 1,00,000.

He deposited Rs.50,000 in a public provident fund.
He also paid a premium of Rs.30,000 for his LIC

policy and also paid a medical insurance premium of

Rs. 20,000.

Compute his taxable income and tax liability for the

assessment year 2023-24. (11)
Or
Write a short note on the following :
(i) Set off and Carry Forward of Losses

(i1) Clubbing of Income (6+5)
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5. Explain the short-term capital gain and long-term
capital gain. Also, explain the applicable exemptions

of long-term capital gain. (1 1)
Or
Write a short on the following :
(i) PAN -

(ii) Assessment Year (6+5)

1 Freafefes @ sEamenstt = e Fifg

(iii) emferT (4+3+4)

P.T.O.



